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OO0 00O O s 242 two hundred and forty-twol] 5058 five
thousand and fifty-eightJ 901 600LJ 000 nine million six hundred
thousand 1.0 OO0 OO0 O OOOOOO 68=14 Six plus eight is
fourteen. 9-7=2 Nine minus seven is two. 7X5= 35 Seven times five is
thirty-five. 8+ 4=2 Eight divided by fouristwo.2.00 O 0O 00 0O I I
OO000000000O Hedied in his fifties. This took place in
1990s/1990s. The professor became successful in his thirties. 3.1 [
JO000000o00o0oUOoododnd 1700 seventeen
hundred 1814 eighteen fourteen 901 20 nine twenty 1107 30 eleven
thirty/ half past eleven 501 45 five forty-five/ a quarter to six 88760231
eight eight sevenl] six zero twoll threeone4.00 0 0 OO0 O O
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OO0000000000 Aone-month-old baby can recognize
its mother by smell. This eleven-month-old baby can speak a few
words. [J The baby is eleven months old.[J The teacher asked us to
write a four-thousand-word essay as our homework. [J There are
four thousand words in the essay.[] This four-paragraph essay is too
difficult for me to understand. I There are four paragraphs in this
essay. 1 100Test U D DO OO0 OO0 O0OOO0OOOOoOOOn
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